>
201253250 ~9H30A RS EER (e EVRR6, TOMEEIR) JTA/RAC
EDHRREOR =0
HAR 13X HARE I 3% HARA I % AR 1 3% HARE I 3% HARA I %
B 4/1-26. 4/27-5/6 7/13-19 4/1-26. 4/27-5/6 7/13-19
5/7-7/5. |BIBIED| "y 1,250 | FIBIED| 7/6-12 | FIBIHQ)| g 17 5 BIZIHD)|3/25-31 51K Q)| 7/20-8/2 BI51%Q)| 8/3-16 F51EQ)| 5/7-7/5. |FBIHD|"y 750" | FIFIED| 7/6-12 |F51HQ)| g 1, 55 FIFIED)|3/25-31|F51HQ)|7/20-8/2 FI51%Q)| 8/3-16 F5I1EQ)
9/1-13 9/1-13
1 JTA 36,300 11%| 36,300 11%| 38,500 10%| 38,500 10%| 42,400 1%| 42,400 1%| 42,400 1% 35,500 13%| 35,500 13%| 38,500 10%| 38,500 10%| 42,400 1%| 42,400 1%| 42,400 1%)
2 JTA 30,100 12%| 30,100 12%| 32,600 10%| 32,600 10%| 35,900 1%| 35,900 1%| 35,900 1% 29,000 15%| 29,000 15%| 32,600 10%| 32,600 10%| 35,900 1%| 35,900 1%| 35,900 1%)
3 JTA 23,800 13%| 23,800 13%| 26,200 11%| 26,200 11%| 29,100 2%| 29,100 2%| 29,100 2%| 22,500 18%| 22,500 18%| 26,200 11%| 26,200 11%| 29,100 2%| 29,100 2%| 29,100 2%
4 JTA 50,500 15%| 50,500 15%| 53,400 13%| 53,400 13%| 61,000 1%| 61,000 1%| 61,000 1% 42,850 28%| 42,850 28%| 53,400 13%| 53,400 13%| 61,000 1% 61,000 1% 61,000 1%)
5 JTA 47,200 15%| 47,200 15%| 50,000 13%| 50,000 13%| 57,200 1%| 57,200 1%| 57,200 1% 40,400 27%) 40,400 27%| 50,000 13%| 50,000 13%| 57,200 1%| 57,200 1%| 57,200 1%)
6 JTA -— - - -— 46,200 13%| 46,200 13%| 52,800 1%| 52,800 1%| 52,800 1% — -— - - 46,200 13%| 46,200 13%| 52,800 1%| 52,800 1%| 52,800 1%)
7 JTA 41,500 14%| 41,500 14%| 43,900 13%| 43,900 13%| 50,100 1%| 50,100 1%| 50,100 1% 35,500 27%|) 35,500 27%| 43,900 13%| 43,900 13%| 50,100 1%| 50,100 1%| 50,100 1%)
8 JTA 39,900 15%| 39,900 15% — - -— -— -— -— -— -— -— -— 39,900 15%| 39,900 15% — - -— -— -— -— -— -— -— -—
9 JTA 45,600 14%| 45,600 14% — - -— -— -— -— -— -— -— -— 45,600 14%| 45,600 14% — - -— -— -— -— -— -— -— -—
10 | /=48 (ARER) JTA 36,200 11%| 36,200 11%| 38,400 10%| 38,400 10%| 42,400 1%| 42,400 1%| 42,400 1% 33,400 18%| 33,400 18%| 38,400 10%| 38,400 10%| 42,400 1%| 42,400 1%| 42,400 1%)
11 | FEE=1#BH) JTA 32,650 15%| 32,650 15%| 36,400 11%| 36,400 11%| 40,300 1%| 40,300 1%| 40,300 1% 31,000 20%|) 31,000 20%| 36,400 11%| 36,400 11%| 40,300 1%| 40,300 1%| 40,300 1%)
12 | B =38 RER) JTA 30,100 12%| 30,100 12%| 31,900 12%| 31,900 12%| 35,900 1%| 35,900 1%| 35,900 1% 27,750 19%| 27,750 19%| 31,900 12%| 31,900 12%| 35,900 1%| 35,900 1%| 35,900 1%)
13 | HB (BT =FHi8 JTA 19,000 17%| 19,000 17%| 20,500 15%| 20,500 15%| 23,600 2%| 20,500 15%| 23,600 2%| 17,200 25%) 17,200 25%| 20,500 15%| 20,500 15%| 23,600 2%| 20,500 15%| 23,600 2%
14 | AEEBH) ==& [JTA/RAC 9,900 43%) 14,500 17%[ 9,900 47%| 15,700 16%| 9,900 47%| 15,700 16%| 18,100 3% 9,800 44%) 13,200 25%| 9,800 47%| 15,700 16%| 9,800 47%| 15,700 16%| 18,100 3%
15 | RiEE=8TH RAC 9,900 17% 9,900 17%| 10,800 13%| 10,800 13%| 11,900 4%| 10,800 13%| 11,900 4% 8,650 27% 8,650 27%| 10,800 13%| 10,800 13%| 11,900 4%| 10,800 13%| 11,900 4%
16 | & (FRER) = AR S [JTA/RAC] 9,700 18% 9,700 18%| 10,700 13%| 10,700 13%| 11,800 4%| 10,700 13%| 11,800 4% 8,600 27% 8,600 27%| 10,700 13%| 10,700 13%| 11,800 4%| 10,700 13%| 11,800 4%
17 | RiE=53E JTA/RAC 9,700 18% 9,700 18%| 10,700 13%| 10,700 13%| 8,250 33%| 10,700 13%| 11,800 4% 8,600 27% 8,600 27%| 10,700 13%| 10,700 13%| 8,250 33%| 10,700 13%| 11,800 4%
18 | A8 (BH) =5k RAC 12,400 13%| 12,400 13%| 13,900 9%| 13,900 9%| 14,800 3%| 13,900 9%| 14,800 3% 12,300 13%| 12,300 13%| 13,900 9%| 13,900 9%| 14,800 3%| 13,900 9%| 14,800 3%
19 | BB =FBEXS RAC 20,700 11%| 20,700 11%| 22,200 9%| 22,200 9%| 23,900 2%| 22,200 9%| 23,900 2%| 19,950 14%| 19,950 14%| 22,200 9%| 22,200 9%| 23,900 2%| 22,200 9%| 23,900 2%
20 | h#B(AFH) =MAR| RAC 22,100 11%| 22,100 11%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%| 21,150 15%| 21,150 15%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%
21 | h#B(AFH) =L KE| RAC 22,100 11%| 22,100 11%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%| 21,150 15%| 21,150 15%| 22,600 9%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9%
22 | mAE=&KXE RAC 7,100 14% 7,100 14%| 7,600 8% 7,600 8%| 7,600 8%| 7,600 8%| 7,600 8% 7,050 15% 7,050 15%| 7,600 8% 7,600 8%| 7,600 8%| 7,600 8%| 7,600 8%
23| EH=%2EM RAC 7,300 14% 7,300 14%| 7,800 8% 7,800 8% 5450 36%| 7,800 8%| 7,800 8% 7,250 15% 7,250 15%| 7,800 8% 7,800 8% 5450 36%| 7,800 8%| 7,800 8%
24 | H#E(AE) =5HBE| RAC 26,600 16%| 26,600 16%| 28400 15%| 28,400 15%| 32,900 1%| 28,400 15%| 32,900 1% 21,750 31%) 21,750 31%| 28400 15%| 28,400 15%| 32,900 1%| 28,400 15%| 32,900 1%]
X [ESRREOR, e EPRZR 6 EAKIM]
- (BB =RIE. Bh. AKE. 5iK. BEXE. BAR. LXE. 5BE. RE==4. 5HE.
BMAR=1tAR., EH=%REHKISER
! /1-1/5,.9/1-9/30 HARA D : 7/6-8/2, 8/17-8/31  HARI : 3/25-3/31, 8/3-8/16
R CIRERISEA
HARG I . 4/1-7/5. 9/1-9/30 AR D : 7/6-7/19. 8/17-8/31 HARMI : 3/25-3/31. 7/20-8/16

FNEIRQ:BEEH [KATBEER XL
BF5IRQ: E—IT KA S BER 1%L



JAL/JTA/JAC/RAC

Rl

([ 1#2: iy s BIBIED| rvamms BIBIED|, [ 0% BISIED| voscrmms | BFIEQ| /o120 BEIE@)| v o-vanns 23IEQ)
RE—FE@EE)| JTA | BAiE— 98 (BH) 9,400 59% 9,400 59% 9,400 59%| 16,100 33% 9,700 60% 9,700 60%
RiE-EH  [JTA/RAC RiE-EG 4,900 59% 4,900 59% 4,900 59% 8,200 34% 4,900 60% 4,900 60%
RIE—5PE [JTA/RAC] FHiE—5HE 4,900 58% 4,900 58% 4,900 58% 5,700 54% 4,900 60% 4,900 60%
AiE—Em JTA RiEE—BRR 40,700 31%| 40,700 31% 40,700 31%] 41,200 33%| 41,200 33%| 41,200 33%
AE-E= JTA | RE— 8 (A EH) 14,500 37%| 14,500 37% 14,500 37% 14,700 39% 14,700 39% 14,700 39%
JAL/JTA| 48 (BE) — R 26,200 36% 26,200 36% 26,200 36% 26,500 38%| 26,500 38% 26,500 38%
[ (FRER) ) it 40,700 36%| 40,700 36% 40,700 36%| 41,200 39% 41,200 39% 41,200 39%)
AiE—-KR JTA FiE— KR 33,500 31% 33,5500 31% 33,500 31% 33,950 33% 33,950 33% 33950 33%)
AiE— KR JTA | BE— 8 (A EH) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39% 14,700 39%
JAL/JTA| & (BRER) — KBR 19,000 44%| 19,000 44% 19,000 44%| 19,250 47% 19,250 47% 19,250 47%
[ (FRER) ) B 33,500 41%| 33500 41% 33,500 41%| 33950 44% 33950 44%| 33950 449

AE—&GE JTA AE—&EE 38,650 27%  — — — — — — — — — —
FiE—-2EE JTA | BE—AHB(RE) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39% 14,700 39%
JTA (BB —2EH 24,150 37% 24,150 37% 24,150 37% 24,750 39%| 24,750 39%| 24,750 39%
[ (GRER) ] it 38,650 37% 38,650 37% 38,650 37% 39,450 39%| 39,450 39%| 39,450 39%
FiE—EE JTA | BE—AHBRE) 14,500 37% 14,500 37% 14,500 37% 14,700 39% 14,700 39% 14,700 39%
JTA | iR (BRER) — 1 16,100 41%| 16,100 41% 16,100 41%| 17,250 42% 17,250 42% 17,250 429
[ GRER) ] it 30,600 39%| 30,600 39% 30,600 39% 31,950 41% 31,950 41%| 31,950 41%
=i —F# (BH) |JTA/RAC| By — 4 (AR ) 9,800 44% 6,100 65% 11,950 32% 9,800 47% 9,800 47% 12,550 33%
BO—ER JTA BEO—HRE 38,100 31%| 38,100 31% 38,100 31%| 38,700 33%| 38,700 33%| 38,700 33%

B — AR JTA =i — AR 32,050 32%  — — 32,050 32%  — — — — — —
BEH—AR |JTA/RAC| Bty —iH#E (AVE) 9,800 44% 6,100 65% 11,000 37% 9,800 47% 9,800 47% 11,200 40%
JAL/JTA| 8 (BRER) — KR 21,050 38% 21,050 38% 21,050 38% 22,300 39% 22,300 39% 22,300 39%
[ (FRER) ) it 30,850 40% 27,150 47% 32,050 38% 32,100 42% 32,100 42%| 33500 39%
KB — 08 (BB JTA/RACA K B — i (BN 4,900 58% 4,900 58% 4,900 58% 5,700 54% 4,900 60% 4,900 60%
AXKE—FR JTA AXKE—FR — — — — — — -— -— -— -— 35,800 33%
5 IME — 448 (BRE] RAC  5IE-— B NE 12,900 59% 12,900 59% 12,900 59% 22,100 34% 13,300 60% 13,300 60%)
BERE-—EBEKRE| JAC |BREE-ETEXE 15,750 32% 15,750 32% 15,750 32% 16,150 36% 16,150 36%| 16,150 36%
BRE—#25 JAC BRE—#ZE 18,500 31% 18,500 31% 18,500 31% 18,500 36%| 18,500 36%| 18,500 36%
BERE—1EBFS JAC BRE—1EFS 9,200 27% 9,200 27% 9,200 27% 9,200 27% 9,200 27% 9,200 27%
BERE—EBAS JAC BRE—EBAS 10,200 27% 10,200 27% 10,200 27% 10,200 27% 10,200 27% 10,200 27%
BRE-ER8 | JAC BERS—ERS 18,250 25%| 18,250 25% 18,250 25%| 18,250 25%| 18,250 25%| 18,250 25%
BERE—HKBE| JAC |ERE—HhKBE 22,350 24%| 22,350 24% 22,350 24% 22,350 24%| 22,350 24%| 22,350 24%
BRE—5i JAC BRE—5#H 23,500 24% 23,500 24% 23,500 24%| 23,500 24%| 23500 24%| 23500 24%
BERKE-ERE| JAC |EEXEXE-ERE 6,800 28% 6,800 28% 6,800 28% 6,800 28% 6,800 28% 6,800 28%
EEXE—#2B| JAC | EBEXE-EZE 9,750 27% 9,750 27% 9,750 27% 9,750 27% 9,750 27% 9,750 27%
EEXXE—hkBE JAC EEXE KB 12,450 26% 12,450 26% 12,450 26% 12,450 26% 12,450 26%] 12,450 26%
[ ERAE—FKE[ JaACc | BEAE—S@ 8,000 59%| 8,000 59% 8,000 59%| 8,000 59% 8,000 59% 8,000 59%
& JAC Biw— itk RED 4,450 56% 4,450 56% 4,450 56% 4,450 56% 4,450 56% 4,450 56%
(5 B 12,450 58%| 12,450 58% 12,450 58%| 12,450 58%| 12,450 58%| 12,450 58%
BEEXE—5H JAC EEXEXE—5HK 14,600 26% 14,600 26% 14,600 26% 14,600 26%| 14,600 26%| 14,600 26%
BERKE-5H | JAC [EEXE—HKBE 9,200 45% 9,200 45% 9,200 45% 9,200 45% 9,200 45% 9,200 45%
JAC KRB — 5 5,400 46% 5,400 46% 5,400 46% 5,400 46% 5,400 46% 5,400 46%
[k BER] it 14,600 46%| 14,600 46% 14,600 46%| 14,600 46%| 14,600 46%| 14,600 46%
Ak RE— 55 JAC KRB — 55 7,150 29% 7,150 29% 7,150 29% 7,150 29% 7,150 29% 7,150 29%
HE Rk JAC HE — (R 9,550 22% 9,550 22% 9,550 22% 9,550 22% 9,550 22% 9,550 22%

FSIEQ:BEH (KA BEER

IxfEE

B5IRQ: E—VHI KA S BER IR



JTA/RAC

EEEAR ;. 2012/7/3 ~

9/1-14,18-21,23-30
B % =g e 5z e 2] FEw S
woE EER pmw % |piam S mow W% g SN now 0% nei% il
R oAE) =4GR | 4 (B | NUO70| ATH [ 35,800 izl ,100 % EOl=] ,900 %
NUO078| AiH [35,800 BIH ,100] 19% BIH ,900] 22%
KIR (BE) =48 (B9 | IR (BE) %[ NU273 | 3B @1 | 30,000 BHAI ,700 % Bl ,400] 17% -—
NU277| 3HHT [30,000 EIHi [28,700] 16% BRI 28,400 17%
NU279| 3HHT [30,000 EHi [28,700] 16% A [28,400] 17%
= m | NU270| 3E B | 30,000 EHi [28,700 16% BRI 28,400 17%
NU274| 3HHT [30,000 BB [28,700] 16% BB [28,400] 17% — [ — | — — [ — ] —
NU084| 3HHT [30,000 EIHi (28,700 16% BRI 28,400 17% — —
NU280| 3HHT [30,000 BRI |28,700] 16% A [28,400] 17% — —
wE=F#E | BER [NU51| 3EHT 23,500/ 15 EEi 00] 19% BB 21,800 21% — [ — | — — | — [ —
NU053| 3HAI 23,500 15 B #i 00| 19% BRI 21,800 21% — —
NU057| 3HAI 23,500 15 B #i 00| 19% BRI 21,800 21% — —
NUO061| 3HAI 23,500 15 B #i 00| 19% BRI 21,800 21% — —
NU063| 3HHT | 23,500 15 EEil 00] 19% BB [21,800] 21% — | — [ — — [ — ] —
NU065| 3HAI 23,500 15 B #i 00| 19% BRI 21,800 21% — —
4RI [ NU050| 3HHI 23,500 15 [=K:D] 00 % HAI 21,800 % —— p—
NU052| 3HHT | 23,500 15 ] 00] 19% BB [21,800] 21% — [ — | — — [ — ] —
NUO054| 3HAI 23,500 15 B #i 00| 19% BRI 21,800 21% — —
NUO056 | 3HAI 23,500 15 B #i 00| 19% BRI 21,800 21% — —
NUO060| 3HAI 23,500 15 B #i 00| 19% BRI 21,800 21% — —
NU062| 3HHT | 23,500 15 BB 22,300 19% BB [21,800] 21% — | — [ — — [ — ] —
= (R\) =4&E | ®5cen) %[ NU071| 3HHT [47,200] 20 H A 38300 35% H&I | 36,300 % —— p—
RIEF [NUO70| 3HHT (47.200( 20 EI#i 38,300 35% BRI 36,300 39% — —
NU078| 3HHT |47.200 20 BB [38,300] 35% E B [36,300] 39% — [ — 1 — — [ — ] —
ERCHE) =52 | &5 @) %[ NUO: H#I | 44,000 B3 38,000 % EL 1000 35% — —
NUO! B Al | 44,000 EI#i {38,000 32% EIfi 36,000 35% — —
EH % [NUO: B Al 44,000 EI#i {38,000 32% EIfi 36,000 35% — —
I (B7E) =18 | AR (B9%) %] NUO H R [37.000] 24 BB [35400] 27% BB | 34,900 28% — [ — | — — | — [ —
AIEFK [NU084| 3HHT [37.000] 24 | 3B A 35400] 27% | 3EAIT 33,900 30% — —
KR (BT) == | AR (87 | NUO HAT 38000 19% [9/1-7:&{k| 3EAI (35400 24% [9/1-7.i8¢k| 3EAT (34,400 26% [9/1-7.i8 4k — —
EHFE [NUO EIfi 38,000 19% [9/1-738{K| 3HAI |35400] 24% 9/1-7.84k| 3EHHT 34,400 26% 9/1-7.84K| — [ — | — — [ — [ —
a®E(RE)=FHE|ssren = NUT73| 3HAT (45000 15% 9/1-7:&fi| 3B AT [37,200] 30% [9/1-7.i8#i| 3E AT [36,200 32% [9/1-7.i8f1 — —
AIEH [NU7 45,000 /1-7.38#1| 3HAT 37,200 30% 9/1-7:Ef1| 3EAI 36,200 32% 9/1-7:&Eff — —
=Rl GBI | /MAFE | NU03T ,000] 24 E#i 30,000 26 Al [28,100 31% — —
=l R %| NUOS| ,000] 24 HAI 30,000 26% HAI 28,100 % —_ | — | — — | — [ —
aaR G —raEm | aaE@m x| NU25 400] 16 HAI 30,800 20 H&I | 30,200 % — —
NU25 ,400] 16% E#i 30800 20 BE#i 30,200 22% — —
NU255 400 16% E B 30.800] 20! B [30,200] 22% — [ — ] — — [ — ] —
NU257 ,400] 16% E#i 30800 20 BE#i 30,200 22% — —
ol (BT 5| NU252 1400 16% E A 30800 20 &I 30,200 22% — p—
NU254 ,400] 16% | 3B &I |30.800] 20 | 3EAT 30,200 22% — —
NU17 ,400] 16% |9/1-7.8#7| 3EHi [30.800] 20% [9/1-7.&ffi| 3EAFI [30,200) 22% [9/1-7:&fA| — | — | —— — [ — ] —
NU25 ,400] 16% E#i 30800 20 BE#i 30,200 22% — —
NU ,400] 16% E#i {30,800 20 BE#i 30,200 22% — —
L= 4 (IR EH) NUO 7,000 BB [26,000] 24 B#i_ 24,000 30 — [ — | — — [ — ] —
i NUO 7,000 EIHi 26,000 24 EIfi | 24,000] 30 — —
S CRED) =R 18 NU60 600 E#i | 17.000 BBl | 16,300 — —
NU60 600 EIHi [17.000] 26% BEIA_[16,300] 29% — —
NU60 600 BB 17,000 26% BB [16,300] 29% — | — [ — — [ — ] —
NU60 600 EIHi [17.000] 26% BEIA_[16,300] 29% — —
NU 600 EIHi [17.000] 26% BEIA_[16,300] 29% — —
NU615 600 BB 17,000 26% BB [16,300] 29% — | — [ — — [ — ] —
NU619 600 EIHi [17.000] 26% A _[16,300] 29% — —
NU621 600 EIHi [17.000] 26% BEIA_[16,300] 29% — —
NU625 600 EIHi [17.000] 26% BIA_[16,300] 29% — —
RIEFK |NUOT70 600 BB 17,000 26% BB [16,300] 29% — | — [ — — [ — ] —
NU604 600 EIHi [17.000] 26% BRI 16,300 29% — —
NU60 600 EIHi [17.000] 26% BEIAi 16,300 29% — —
NU60 600 BB 17,000 26% BB [16,300] 29% — | — [ — — [ — ] —
NU61 ,600 B Hi [17.000] 26% BRI _[16,300] 29% — —
NU614 ,600 | 3B A [17.000 26% | 3EAIT 16,300 29% — —
NU176 ,600 9/1-7.38fi| 3EHAI | 17.000] 26% [9/1-7:8f| 3EAI | 16.300] 29% [9/1-7.8ff — —
NU084 600 BB 17,000 26% BB [16,300] 29% — | — [ — — [ — ] —
NU620 ,600 B Hi [17.000] 26% BRI _[16,300] 29% — —
NUG: ,600 B Hi [17.000] 26% BRI 16,300 29% — —
NU07 600 BB 17,000 26% BB [16,300] 29% — | — [ — — [ — ] —
NU62 600 BB 17,000 26% BB [16,300] 29% — [ — — [ — ] —
PHE (IR == | R 5| NUSS 4,400 18% |9/1-139200] HTH |14.300 % 9/1-13:7.200] BIH ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
RAC801 4,400] 18% [9/1-13:9200] RIH [14,300] 18% [9/1-137.200] RAIE ,100] 25% |9/1-13:6,200 ,600] 28% |9/1-13:5,200 74% |o/14.18-2129-00 BB
NUS557 4,400 18% |9/1-139200] HTH |14.300 % 9/1-13:7,200] BIH ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NU559 4,400 18% 9/1-139200] HTH |14.300 % 9/1-13:7,200] BIH ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NU563 4,400] 18% |9/1-13:9200] RIE [14,300] 18% =] ,100] 25% |9/1-13:6,200 ,600 28% 9/1-13:5,200 74% |o/14.18-2129-00 BB
NU567 4,400] 18% |9/1-13:9200] RIE [14,300] 18% =] ,100] 25% |9/1-13:6,200 ,600 28% 9/1-13:5,200 74% |o/14.18-2129-00 BB
NUSI 4,400 18% 9/1-139200] HTH |14.300 % Eil=] ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NU57 4400 18% |9/1-139200] HTH |14.300 % Eil=] ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-308E %L
NUS7: 4400 18% 9/1-139200] HIH |14.300 % Eil=] ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
BEHFE [NU5S! 4400 18% [9/1-13:9200] HiH [14,300] 18% |9/1-137.200] A7E ,100] 25% |9/1-13:6,200 ,600] 28% |9/1-13:5,200 74% |o/14.18-2129-00 BB
NUS55 4,400 18% |9/1-139200] HIH |14.300 % 9/1-13:7,200] BIE ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NUS! 4,400 18% |9/1-139200] HTH |14.300 % Eil=] ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NU560 4400 18% |9/1-139200] HTH |14.300 % Eil=] ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NU564 4400 18% |9/1-139200] HIH |14.300 % Eil=] 100 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NU566 4,400] 18% |9/1-13:9200] RIE [14,300] 18% =] ,100] 25% |9/1-13:6,200 ,600 28% 9/1-13:5,200 74% |o/1418-2129-00 BB
NU568 4400 18% 9/1-139200] HIH |14.300 % Eil=] 100 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NU570 4,400 18% |9/1-139200] HIH |14.300 % 9/1-13:7,200] BIE ,100| 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
NU572 4,400 18% |9/1-139200] HIH |14.300 % 9/1-13:7,200] BIE 100 25% |9/1-13:6,200 ,600 % 19/1-13:5,200 74% |o/14.18-21.20-3080E %L
RAC804 4,400] 18% [9/1-13:9200] RIH [14,300] 18% [9/1-137.200] RAIE ,100] 25% 9/1-13:6,200 ,600 28% 9/1-13:5,200 74% |o/1418-2129-00 BB
BoO=4A1E | EG% |[RAC83I 800 | 18% B1H | 9.600  19% B | 9400 | 21% — | — | — p—
RAC833 800 | 18% AIE | 9,600 % BIH ,400 % —
RAC837 800 | 18% AIE | 9,600 % BIH ,400 % —
FiE% [RACS32 800 | 18% AIE | 9,600 % BIH ,400 % —
RAC834 ,800 [ 18% BIE | 9.600 % BIE | 9,400 % — [ — | — — [ — ] —
RAC838 800 | 18% AIE | 9,600 % BIH ,400 % — o
L GBER) = Ak B | L (B9 [ RACBT1 ,600 BIEH ,000 [ 24 Eil=] 600 | 27% —— p—
RAC873 ,600 Eil=] ,000 | 24 BIEH ,600 [ 27% — | — | — —— | — | —
RAC875 600 BH [9000 24 BIE [ 8,600 27% — —
RAC877 ,600 BIE 9000 [ 24 BIE [ 8,600 27% — —
RAC879 ,600 E0l=] 000 | 24 E0l=] ,600 | 27% — —
RAC881 ,600 BIE 9000 [ 24 BIE | 8,600 27% — | — [ — — [ — ] —
AKEF[RACET2 ,600 AIE | 9.000 | 24 BIH ,600 | 27% — o
RAC874 ,600 Eil=] 000 | 24 Eil=] ,600 | 27% — —
RAC876 ,600 BIE 9000 [ 24 BIE | 8,600 27% — | — [ — — [ — ] —
RAC878 ,600 Eil=] 000 | 24 Eil=] ,600 | 27% — —
RAC870 ,600 Eil=] 000 | 24 Eil=] ,600 | 27% — —
RAC882 ,600 Eil=] 000 | 24 Eil=] ,600 | 27% — —
RiE=5RE | RIEFK [RAC807 ,600 xok& BEH| BIE 000 [ 24% kK& BEH| BIR 600 [ 27% |kAk&BE@H] — | — [ — — | — | —
5 AR [E 5| RAC806 ,600 xok& BER| BIE | 9,000 | 24 BIH ,600 | 27% [Xok& B — —
0l () = 530 | #4358 3| RAC889 26,100 18% |ok&A&#| BIHA 25100 21 BIE [24,100] 24% |ksk# A& — —
5 BB E F&| RAC8S0 26,100 18% |aok#Es@m| FTH 25100 21% BIE 24100 24% kK& B@EH| -— | — | — — | — | —
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=S B . 44TA . 4478 947A | 547B | 447A [ 547B
FH | gmag | BRA B FH | gmag | BRA . EEE EeE| EeE Es
BEAMAR ™ #5 % " AR T gE% " SRS PR RS BRE
RRCRE) =4 (B [ 948 (FFH) F[_NU070 BRI [20200] 50% 45HF] [ 19.400] 52% |H:19,500 ,300] 20,500 21,2001 20,400
NU078 B8 21,300 48% |H:23,300 45HH] | 20,500 50% |H:22,500 ,300] 20,5001 23,3001 22,500
K (B87G) =48 () | KMk () F[_NU273 B8 [18,000] 47% |+:19,500 45E 8 | 14,300] 58% ,5001 16,300 20,000 16,300
NU277 B8 [16,000] 53% |+:17,500 45HHF] [ 11,300 67% ,5001 13,300 18,000 13,300
NU279 BRI [16,000] 53% A% H:18,000, £:17,000 45HH\] [11,300] 67% ,000] 13,300{ 20,000 13,300
8 (IR F[_NU270 BRI [ 16,000] 53% 45HF] [11,300] 67% ,000] 13,300 18,000 13,300
NU274 BRI [ 16,000] 53% 45HF] [11,300] 67% ,000] 13,300 18,000 13,300
NU084 B8 [19,500] 43% |H:21,500 45E i 14,300 58% |H:15,300 22,000 00 23,000 17,300
NU280 B8 [19,500] 43% |H:21,500 45E i 14,300 58% |H:15,300 000 00 23,000 17,300
fakE = h#% (R:;) FEES NUO051 BRI | 16400] 40% |H:15400 45H /i [15.900] 42% [H:14,900 4001 15,900 [ 15,400 [ 14,900
NU053 BRI [14000] 49% (% +:16,000 45H 13,500] 51% (4 000 15,500 14,000 13,500
NU057 B 12400 55% [%:14.000 45 11,900] 57% [#:13, 4001 11,900] 12,400 11,900
NUO061 BRI | 12400] 55% [%:15000, H:13,400 45HF] 11,900 57% |%:14,500, H:12,900 14001 11,900 13,400 12,900
NU063 BRI [12400] 55% |4 45HF] 11,900 57% |%:14,500, H:12,900 ,400 00] 13,400 00
NU065 BRI [13000] 53% (4 Y 45HF] [ 12,500 55% |4 ,000] 12,500 14,000 13,500
iR #E (BRER) F[_NU050 BRI [ 12400] 55% ] 45HF] [11,900] 57% 4,500, H:15,300 5,000 14,500 15,800 15,300
NU052 BRI [ 12400] 55% X 45H\] [11,900] 57% 12,500 3,000] 12,500 13,000] 12,500
NU054 B [ 12,400] 55% ,000, 45H\] [11,900] 57% . H:13,500 3,000] 12,500 14,000 13,500
NU056 BRI 14400] 48% [%:15500, H:16,400 45HF] [11,900] 57% |4 . H:13,500 4,400 12,500] 16,400 13,500
NU060 Bl 14,400 48% |#H:16,400 45HF] [ 13,900] 49% |& 4,400 13,900] 16,400 15,900
NU062 B8l [ 15400] 44% |[#H:17,400 45HA] [ 14.900] 46% |& 5,400 14,900 17,400 16,900
RRCHE)=FRE [ERE(HHA) [ NUOTI BRI [28200] 52% % +:28700 45H 8100 53% & 3,500 33,400 31,000] 30,900
RIEHE NU070 B (22700 62% 45 2,600 62% 2,700 22,600 22,700 00
NUO7 BRI [27.300] 54% |H:28600 45HHF] | 27,200 54% |H:28,500 7,300 27,200 28,600 28,500
RRCPE) =% |RZECHE)F[_NUO BRI [25300] 54% % +:29.300 45H B 25200] 55% [#+:29.200 2,300 32,200 28,800 28,700
NUO: B8 [ 22500 59% |#+:23,600 45HH\] | 22,400 60% |% +:23,500 2,500 22,400 22,500 22,400
R NUO: B8 | 23,400] 58% |H:26,400 45HHF] | 23,300 58% |H:26,300 4,700 24,600 28,200 28,100
Kk (BT =R1E [XBKk(Ei#FE) %[ NUO H#i 22000] 55% [£:25000, £:23,000 45H B [21,500] 56% [£:24,500, +:22500 5,000 | 24,500 24,000 | 23,500
AIEHE NU084 B8 [21,000] 57% |H:24,000 45HH] | 20,500 58% |H:23,500 3,000 22,500 26,000 25,500
A (BE) ==d [XB(BIF) %[ NUO BRI | 19,800 58% |4 £:22300. 9/8-9 3&#1 4587 | 19.700] 58% % £:22.200. 9/8-9.384 e R
B NUO! BAi1 [19.800] 58% [H:22,300. 9/8-9:&fi 4551 19,700 58% |H:22,200, 9/8-938 4 [ R p—
AHE(PER) =HE [a&EFME] NUI7 BRI [23000] 57% [£:28300, 9/3-73&fA 45E 1 | 22,900] 57% [%:28,200, 9/3-73&# 3,000 [ 22,900 28,300 28,200
AEHE NU17 BRI [23000] 57% [9/3-73&f 45H\] [ 22,900] 57% (9/3-7.38fn 3,000 [ 22,900 29,000 28,900
N =h#E (RER) N NU037 B (22000 46% [&+:25000 45 —_ ] — 5000 — 000 —
SR8 (IBER) F[ NUO3| B8 [ 22,000 46% |H:25000 45881 | — | — 2,000] — [25000] —
BHE (PED) =948 () | B 2 (D) %[ NU25 B8l 22,300 42% |# +:24,300 45HH] 20,200 48% % +:23,200 4,300 23,200 22,300 20,200
NU25: B [ 20,700] 46% 23,700 45HH/] | 20,200 48% :23,200 ,700] 23,200{ 20,700 20,200
NU255 BRI [ 19.800] 49% £:19,100 45HH/] [19,300] 50% :18,600 ,100] 18,600] 19,800 19,300
NU257 BRI | 18300] 53% 45HF] [17,800] 54% ,3001 17,800 00| 17,800
h#E (BRER) F[_NU252 BRI | 18,300] 53% 45HH\] [17,800] 54% ,300] 17,800 18,300 17,800
NU254 B8 [19,700] 49% |H:22,200 45E 81 [ 19,200 50% |H:21,700 ,700] 19,200{ 22,200 21,700
NU17 B8 21,200 45% [9/3-7.38f 45HHA] 20,700 46% (9/3-7.3&fn 20,200 19,700] 23,700 23,200
NU25 Bl [ 21,700] 44% [£:22200, £:19.700. H:24,200] 45H 7] | 21,200 | 45% |%:21,700. +:19,200, H:23,700] 19,700 19,200 24,200 23,700
NU B | 21,700] 44% 2,200, +:19,700, H:24,200] 45H , 45% 1,700, +:19,200, H:23,700] 19,700 19,200 24,200 23,700
il L =348 (R &) ] LLy & NUO B | 18400 46% [&+:21,400 45 ! 49% & +:20,400 23,400 22,400 20,4001 19,400
SR8 (BRER) [ NUO B8 18,400 46% |H:21,400 45HHF] 17,400 49% |H:20,400 20,400 19,400 23,4001 22,400
SRR (FRER) =H1E |8 (IBE) F[_NU60 BRI | 8600 | 63% 45HA] | 8.200 | 64% 8,600 | 8,200 | 8,600 | 8,200
NUG0: BRI | 8600 | 63% 45HA] | 8.200 | 64% 8,600 | 8,200 | 8,600 | 8,200
NU605 BRI [ 12.800] 44% 45HH] [ 12,400 46% 12,800 | 12,400 12,800 | 12,400
NU609 B A | 8,600 % 45HH] | 8.200 | 64% 00 | 8,200 [ 8,600 00
NU613 B A | 8,600 % 45HH] | 8.200 | 64% 00 00 | 8,600 00
NU615 B A | 8,600 % 45HH] | 8.200 | 64% 00 00 | 8,600 00
NU619 B A | 8,600 % 45HH] | 8.200 | 64% 00 00 | 8,600 00
NU621 B A | 8,600 % 45HH] | 8.200 | 64% 00 00 | 8,600 00
NU625 B &1 | 8,600 % 458 ,200 | 64% 00 00 | 8,600 00
RIEHX NU070 B | 8600 % 45 ,200 | 64% 00 00 | 8,600 00
NU604 B A | 8,600 % 45HHT | 8.200 | 64% 00 00 | 8,600 00
NUG0I B A | 8,600 % 45HHT | 8.200 | 64% 00 00 | 8,600 00
NUG0: B A [ 8500 % 45HH] | 8,100 | 65% 500 | 8,100 | 8,500 | 8,100
NU61 B A | 8500 b 4581 00 [ 65% 500 | 8,100 | 8,500 | 8,100
NU614 BRI 12800 44% 45HA] [ 12,400 46% ,800] 12,400{ 12,800 12,400
NU176 BRI [12.800] 44% [9/3-73&f 45HA] [ 12,400 46% (9/3-7.38fn ,800] 12,400 12,800 12,400
NU084 BRI | 12.800] 44% 45HHF] [ 12,400 46% ,800] 12,400 12,800 12,400
NU620 BRI [ 12900] 44% 45HH] [ 12,500 46% ,900 12,500 12,900 12,500
NU6 B [ 12,900] 44% 45HH|] [ 12,500 46% ,900 12,500 12,900 12,500
NUO7 B [ 12,800] 44% 458 12,400 | 46% ,800] 12,400 12,800 12,400
NUG62; B | 8500 | 63% 45 100 | 65% ,500 | 8,100 | 8,500 | 8,100
R == | (R F[_NU55 H#i | 4100 [ 77% 45HH] | 4000 [ 77% 4,100 [ 4,000 [ 4,100 | 4,000
RAC801 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU557 BRI | 4100 | 77% 45E1 R | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU559 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU563 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU567 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU5! BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU57 BRI | 4100 | 77% 45E1 R | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU57 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
EEES NU55: B8l | 4100 | 77% 458 4,000 | 77% 4,100 | 4,000 | 4,100 | 4,000
NU55! B | 4100 [ 77% 45 4,000 | 77% 4,100 | 4,000 | 4,100 | 4,000
NU5! BRI | 4100 | 77% 45E1 R | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU560 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU564 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU566 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU568 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU570 BRI | 4100 | 77% 45E1 i | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
NU572 BRI | 4100 | 77% 45E1 7 | 4,000 [ 77% 4,100 | 4,000 | 4,100 | 4,000
RAC804 [ 28 FIRil | 4,100 [ 77% 45E 8 | 4000 | 77% 4,100 | 4,000 | 4,100 | 4,000
Ea=FAE EE% | RACS3I BRI | 8900 | 25% 45880 | — [ — 900 | — [8900 ] —
RAC833 B g1 | 8900 | 25% 4508 — [ — 900 | — [8900 ] —
RAC837 B | 8900 [ 25% 45 —_ ] — 900 | — [8900 ] —
AIEHE | RAC832 BRI | 8900 | 25% 45880 | — [ — 900 | — [8900 ] —
RAC834 [ 28 FIRil | 8,900 [ 25% 45880 | — | — 900 | — [8900 ] —
RAC838 BRI | 8900 | 25% 45881 | — | — 900 | — [8900 ] —
R (IRER) =AXKE A8 () 5[ RAC8TI HAi | 7.600 % 45H7T [ — [ — 7,600 | — | 7600 [ —
RAC873 B A [ 7.600 % 45880 | — | — 7,600 | — [ 7,600 [ —
RAC875 B A1 [ 7.600 % 45880 | — | — 7,600 | — [ 7,600 [ —
NU211 B A [ 7.600 % 45880 | — | — 7,600 | — [7,600 [ —
RAC877 B A [ 7.600 % 45880 | — | — 7,600 | — [7,600 [ —
RAC879 B A [ 7.600 % 45880 | — [ — 7,600 | — [ 7,600 [ —
RAC881 B &1 | 7,600 % 458 — [ — 7,600 | — [ 7,600 [ —
AXREHE [RAC8T2 B | 7.600 % 45 — [ — 7,600 | — | 7600 [ —
RAC874| 28R Hi | 7,600 % 45880 | — [ — 7,600 | — [ 7,600 [ —
RAC876 B A [ 7.600 % 45880 | — [ — 7,600 | — [ 7,600 [ —
NU212 B A1 [ 7.600 % 45880 | — | — 7,600 | — [ 7,600 [ —
RAC878 B A [ 7.600 % 45880 | — | — 7,600 | — [7,600 [ —
RAC870| 28 #i | 7,600 % 45880 | — | — 7,600 | — [ 7,600 [ —
RAC882 B A [ 7.600 % 45880 | — [ — 7,600 | — [7,600 [ —
RiE=5RE RIEHR NU961 Bg1 | 7,050 | 40 45881 | — | — 7,050 | — [7,050 [ —
RAC807 BT | 7,050 | 40% [NOK%E BB 45881 | — | — — | — [7.050 ] —
EMEFE [ NU9I62 H#7 | 7.050 | 40 45H7T [ — [ — 7,050 [ — [ 7050 [ —
RAC806 BT | 7,050 | 40% [MOK%E BB 450 — [ — — | — [7.050 —
R4 (%) = 5E %8 GBF) | RACS89 Bil [18,900] 40% [X.J] SEfn 45 — | — — | — [18900] —
EZRES |RAC880| 28H A | 18,900 40% |k JK.& B iEHi 45881 | — | — — | — 18900 —
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) 3{7A 3178
BEH = ¥R BEH =
AR B51% SR 251%=
R CRE) =48 (38 | 74 (F58) % _NU070 | 28 H AT 55% 56% | H:17,500
U078 | 28 A 53% 300 55% | H:20,500
KIR (BIE) =48 (3 | AR (BI2) % _NU273 | 28 E A 53% 500 58%
U277 | 28HAi 59% 5500 67
U279 | 287 59% | A= H:16,000, £:15.000
S (AT [ _NU270 | 28E 59%
U27: 59%
uos 47% | H:20,000 58% | H:15.30
U28 58% | H:15,30
() [HEES 47% | H:13,50(
000, H:13,000 56% |4 +:14,500. H:12,500
0 58% |%:12,1
_ H:13000 58% |2:13,100, H:12,500
. H:13,000 58% |2:13,100, H:12,500
I . 58% |2 H:12.100
S () R [ £:13,600. H:14.400 58% |2 +:13,100. H:13,000
58%
58%
100, H:15,000 58%
I 55% |5 H:14,500
51% |2 H:15500
HRCPR)=RE [& 53% | 1:28600

A 28 B Al I
B (BER) = S HRE [0 (RE) % 28HAI | 18900 | 40% |KJKZ.H B
SPEH [RACS80] 28HFT | 18,900 | 40% |XJK.2.H.IBfi

Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
Bl
RR(CHE) =27 Bl
Bl
Bl
AR (B#E) =R1E B . :18,500
B 66% | H:19,50(
AR (&) =25 Bl 58% [# 422,200
B 58% | H:22,200
AEE(PE) =FIE [45EH R 28 E Al B —
FiEH 28 H Al Bl —
INRSE 28 H Al Bl —
P GRER) % N 28 H AT Bl — 0000 | — 000 | ———
BHE(PED) R | 28 H AT Bl 50% 00 ,700 | 22,20 ,700 20
28 H AT i 50% 00 700 | 22,201 700 | 19,20
28R | 18, i 54% 00 600 | 18,101 300 | 17,80
[ N 28 B Al i 59% 500 000 [ 17,50 ,300 | 15,800
() %[ N 28 H AT Bl 59% | H:17,501 300 | 15,80 000 | 17,50
28 H AT 50% |H: B 52% |H:21,200 200 | 18,70 700 | 21,20
28 ARl — Bl — | — — | — | — 1 -
28 B Al 45% |£:21,700, $:19,200, H:23,700| 45 A1 | 121,200, +:18,700, H:23,200] 1 201
28 B Al 45% |£:21,700. +:19.200, B:23,700| 45 A1 | 121,000, +:18,700, H:23,200] 1 201
(F%) 28 H AT 46% %+ :21400 Al [ £:20,400 401
5% (B8R | NUOT6 | 28 HAT 46% | H:21.400 L] H:20,400 40
PR (AR =R 18 |4 (BT %[ _NU601 | 28 EAI 63% L] 200
| 28R | 63% HAT
28 ARl 44% L]
| 26EAT | 63% =]
28 H AT 63% L]
28 H AT 63% L]
28 H AT 63% L]
28 H AT 63% K]
[ NU625 | 28E#1 63% L]
BER U070 | 28R&1 63% K]
['NU604 | 28 B 81 63% L]
[ NUG06 | 28H il 63% B Al
[ NU608 | 28 &1 63% L]
U612 | 28 R8T 63% L]
28 ARl 4% L]
28 H AT — B Al
084 | 28 BB 4 B Al
28 H AT 4 B Al
2 | 288A1 4 B Al
28 H AT 4 B Al
N 28 H AT | 63 B Al
FREH =8 [HREHR 28 H AT 6% 9/10-13:4,100 5] /10-13:4,000
28 H AT 36% 9/10-13:4,100 5] /10-13:4,000
7 | 2881 36% 9/10-13:4,100 5] /10-13:4,000
U559 | 28HAI | 11.2 36% 9/10-13:4,100 5] /10-13:4,000
U563 | 28 E A1 58% [9/10-13:4,100 Bl /10-13:4,000
U567 | 28 E A1 58% [9/10-13:4,100 5] /10-13:4,000
| NU569 | 28H il 58% [9/10-13:4,100 Bl /10-13:4,000
U571 | 28881 58% [9/10-13:4,100 5] /10-13:4,000
| NU573 | 28 B A1 58% [9/10-13:4, Bl | 7.200 | 59% |9/10-13:4,000
=% | _NU562 | 28 AT 36% 9/10- BRI | 11,000 | 37% |9/10-13:4,000 11,200 11,200 [ 11,
U556 | 28 E Al 36% 9/10-13:4, BB _| 11,000 | 37% |9/10-13:4,000 11,200 11,200 | 11,000
U558 | 28Rl | 7.400 | 58% |9/10-134, Bl | 7.200 | 59% |9/10-13:4,000 7.400 400 | 7,200
U560 | 28 R8I 58% [9/10-13:4,100 5] /10-13:4,000 7,400 400
28 H AT 36% 9/10-13:4,100 5] /10-13:4,000 200 200
28 H AT 36% 9/10-13:4,100 5] /10-13:4,000
28 H AT 36% 9/10-13:4,100 5] /10-13:4,000
28 H AT 36% 9/10-13:4,100 5] /10-13:4,000
28 BBl 58% [9/10-13:4,100 5] /10-13:4,000
[RAC804| 281 58% [9/10-13:4,100 5] /10-13:4,000
BE=HRiE E&% | RACS31| 28HAEI 25% EE
[RAC833 | 28H 7 25% K]
RAC837| 28HAT 25% K]
RIEF |[RAC832| 28HAT 25% B AT
RAC834| 28R Al 25% L]
RAC838| 28H AT 25% Bal | — | —
SREB (ARER) = KB [ ## (B%) % RAC871 | 28 H AT 36% BAl | — [ —
RAG873| 28R Al 36% BE | — | —
RAG875| 28R Al 36% BE | — | —
U211 | 28HAT 36% BE | — | —
RAG877| 28R Al 36% BE | — | —
RAG879| 28R Al 36% BE | — | —
RAC881| 28H AT 36% Bl [ — | —
AKEFE 28 H AT 36% Bal | — | —
28 BRI 36% BE | — | —
28 ARl 36% Be | — | —
28 ARl 36% BEL | — | —
28 ARl 36% BE | — | —
28 BRI 36% BE | — | —
28 BRI 36% BE | — | —
RiE=51E RiER 28 B A 40% Hal [ — —
28 HRI 40% | KIK.Z.H B BAaf | — [ —
SREHE 28 H Al 40% Bal  — | —
28 ARl [ 40% [ KIKE BBk BE | — | —
FRAH =5R [HRETHR 28 H AT 4 BEl | — | —
28 EIRT | 4 BEl | — | —
ER%E 28 H AT 4 BEl | — [ —
3| 28H 7 4 BEl | — | —
B =BEAE [ RANB) % 28 H AT 4 BEl | — | —
BEABH 28 HAI 4 BAf | — [ —
PR (FRER) =P | el G % 28 H AT BEl | — | —
I | 28R | BEl | — | —
CESE 28 6% | R — T —
28 H AT B Al
PR (FRER) =LK [ G % 28 H AT B Al
28 H AT B Al
MAR=&EXR MARHE 28 H Al Sk
28R | 5 Bl [ — | —
BEa=%RM EEES 28 H A Bal | — [ —
| |RACB97| 28E1RI | BE . — | ——
ZRM%E 28 H A Baf | — [ —
EE
Sk
BB

&
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24 9/3-9 9/1 9/2
A
o a2 |WH) mam ERY i ERE | EAE
R B|5|%

RERCHR) =4 (GR&) | H#E (FFH) F [ _NU070 | 55HFT [ 18,500 55% 19,600 19,500
NU078 | 5581 [ 19,500 52% | H:21,400 19,500 21,400
KB (BEFE) =448 (AR%R) | KB (BEFE) % [ NU273 | 55HEI1 | 12,800 63% 14,800 14,800
NU277 | 55881 [ 9.800 71% 11,800 11,800
NU279 [ 5581 [ 9.800 71% 11,800 11,800
8 (A& %[ Nu270 [ 55H@T [ 9,800 71% 11,800 11,800
NU274 | 55881 [ 9,800 71% 11,800 11,800
NU084 | 5581 [ 12,800 63% | H:13,800 14,800 15,800
NU280 | 5581 [ 12,800 63% | H:13,800 14,800 15,800
&k =i (R ER) FE RS NUO051 [ 55H&] [ 15,100 45% | H:14,100 15,100 14,100
NU053 | 55878 [ 12,700 54% & +:14,700 14,700 12,700
NU057 | 55881 [ 11,300 59% [£:12,900 11,300 11,300
NU061 | 55881 [ 11,300 59%  |£:13,900, H:12,300 11,300 12,300
NU063 | 5581 [ 11,300 59%  |£:13,900, H:12,300 11,300 12,300
NU065 | 5587 [ 11,800 57% % H:12,700 11,800 12,700
8 (ARE) 5 [ Nuoso [ 55877 [ 11,200 59% % +:13,800, H:14,600 13,800 14,600
NU052 | 5581 [ 11,300 59% | £:11,900, £ H:11,800 11,800 11,800
NU054 | 5581 [ 11,300 59% | 1:11,900. H:12,900 11,900 12,900
NU056 | 5587 [ 11,300 59% [$+:11,900, H:12,900 11,900 12,900
NU060 | 55881 [ 13,100 52% % H:15,000 13,100 15,000
NU062 | 55881 [ 14,100 49% & H:16,000 14,100 16,000
R (CPA) =/ B CRE) %[ Nuo7i [ 55H#T [ 28,000 53% | 1:28,500 33,300 30,800
niE% NU070 | 55881 | 22,500 62% 22,500 22,500
NU078 | 55881 [ 27,100 54% | H:28,400 27,100 28,400
HE(CPHAE) =84 Wm CFA) %[ Nuo2i [ 55877 [ 25,100 55% % 1:29,100 32,100 28,600
NU023 | 55878 [ 22,300 60% % +:23,400 22,300 22,300
B NU022 [ 55H&] [ 23,200 58% | H:26,200 24,500 28,000
Kz (BEdE) =RiE ABx (F78E) % | NU083 | 55HEI | 20,400 58% |£:23,200, T:21,300 23,300 22,400

aiE% NU084 | 558 &1

&7 | 19.400 60% |H:22,200 21,400 24,200
KB (BEdE) =& KB (BE7E) ¥ [ Nuogs [ 55HAT [ 19,600 58% | 1:22.100. 9/8-9.3Ef1 -

B NU098 [ 55H &I [ 19,600 58% H:22,100, 9/8-9.3E# e —
ZEE (P —falE BoE(hE)H NU173 | 55881 | 22,800 57% |%:28,100, 9/3-7.3&fin 22,800 28,100
RiEX | NU176 | 55878 [ 22,800 57%  |9/3-7.3&fi 22,800 28,800
5 E () =i (BB T E (PSR H_NU251 | 55HFT [ 19,200 50% | 1:22,000 22,600 19,200
NU253 | 5588 [ 19,200 50% % +:22,000 22,000 19,200
NU255 | 55881 [ 18,400 52% 18,400 18,400
NU257 | 55HAI | 9,800 75% 9,800 9,800
8 (A& %[ Nu252 [ 55H@T [ 9,800 75% 9,800 9,800
NU254 | 5581 [ 18,400 52% | H:20,600 18,400 20,600
NU176 | 5588 [ 19,700 49%  19/3-Ti8fR 18,700 22,100

NU256 | 55H 1 | 20,100 48% |£:20,600, 1:18,200, H:22,500 | 18,200 22,500
NU258 | 55HH | 20,100 48%  |£:20,600, 1:18,200, H:22,500 | 18,200 22,500

i (g =RiE 8 (A& %[ Nueoi [ 55H®T [ 7.800 66% 7,800 7,800
NU603 | 55881 [ 7.800 66% 7,800 7,800

NU605 | 55881 [ 11,800 49% 11,800 11,800

NU609 | 55HHI | 7,800 66% 7,800 7,800

NU613 [ 55881 [ 7.800 66% 7,800 7,800

NU615 | 55HHI | 7,800 66% 7,800 7,800

NU619 | 55HHI | 7,800 66% 7,800 7,800

NU621 | 55HHI | 7,800 66% 7,800 7,800

NU625 | 55HHI | 7,800 66% 7,800 7,800

niE% NUO70 | 5581 | 7.800 66% 7,800 7,800
NU604 | 55881 [ 7.800 66% 7,800 7,800

NU606 | 55HHI | 7,800 66% 7,800 7,800

NU608 | 55HHI | 7,700 67% 7,700 7,700

NU612 | 55HHI | 7,700 67% 7,700 7,700

NU614 [ 55881 [ 11,800 49% 11,800 11,800

NU176 | 55H&] [ 11,800 49%  19/3-Ti8fR 11,800 11,800

NU084 | 5581 [ 11,800 49% 11,800 11,800

NU620 | 5581 [ 11,900 48% 11,900 11,900

NU622 | 5581 [ 11,900 48% 11,900 11,900

NU078 | 5581 [ 11,800 49% 11,800 11,800

NU628 | 5581 [ 7,700 67% 7,700 7,700

R =BG 8 (A& %[ Nuss1 [ 55H\T [ 3,900 78% 3,900 3,900
RAC801 | 55HH] | 3,900 78% 3,900 3,900

NU557 | 55881 [ 3,900 78% 3,900 3,900

NU559 | 55881 [ 3,900 78% 3,900 3,900

NU563 | 55881 [ 3,900 78% 3,900 3,900

NU567 | 55881 [ 3,900 78% 3,900 3,900

NU569 | 55881 [ 3,900 78% 3,900 3,900

NU571 | 55881 [ 3,900 78% 3,900 3,900

NU573 | 55881 [ 3,900 78% 3,900 3,900

EEES NU552 [ 55H&i [ 3,900 78% 3,900 3,900
NU556 | 55881 [ 3,900 78% 3,900 3,900

NU558 | 55881 [ 3,900 78% 3,900 3,900

NU560 | 55881 [ 3,900 78% 3,900 3,900

NU564 | 55881 [ 3,900 78% 3,900 3,900

NU566 | 55881 [ 3,900 78% 3,900 3,900

NU568 | 55881 [ 3,900 78% 3,900 3,900

NU570 [ 55881 [ 3,900 78% 3,900 3,900

NU572 | 55881 [ 3,900 78% 3,900 3,900

RAC804 | 55HFT [ 3.900 78% 3,900 3,900
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24 9/10-14, 18-21. 23-30 9/15 | 9/16 | 9/17 | 9/22
o e | BAW aam 500 % LR | B B |
BR CPIA) =448 (%) | 48 (AR&) [ _Nuo70 | 55HAT | 16,500 |  60% 16,400 | 16,400 | 17,300 | 16,500
NUO78 | 55H 7 [ 17,500 57% | H:19,400 17,500 [ 17,800 | — [17.500
KB (BEFE) =448 (ARER) | KB (BEFE) %[ NU273 | 55HA1 | 12,800 |  63% —— [ 14,200 [ 14,200 [ 15,600
NU277 | 55887 | 9,800 | 71% 13,700 | 12,300 | 12,300 | 13,700
NU279 | 558 H7 | 9,800 | 71% 13,200 | 14,200 | 14,200 | 13,200
8 (ARER) 5 [ Nu270 [ 55HAT [ 9,800 71% 12,300 | 12,300 | 12,300 | 12,300
NU274 | 55887 | 9,800 | 71% 12,300 | 12,300 | 12,300 | 12,300
NUO084 | 55H &7 [ 12,800 63% | H:13,800 16,100 [ 17,000 | — [ 16,100
NU280 | 55H &7 | 12,800 63% | H:13,800 16,600 [ 17,100 | —— [ 16,600
&k =8 (R ER) FE RS NU051 | 55H#7 [ 13,700 50% [H:12,700 —— [ 12,700 12,700 [ 13,700
NU053 | 558 @i | 11,300 | 59% £ +:13,700, H:11,700 12,300 | 11,700 [ 11,700 | 12,300
NUO57 | 55H 7 [ 10,900 | 60% | £:11,500 10,900 | 10,900 | 10,900 | 10,900
NUO61 | 55H&f | 10,900 | 60% | 2:12,500, H:11,900 10,900 [ 11,900 | — [10,900
NU063 | 558 &f | 10,900 | 60% | 2:12,500, H:11,900 10,900 [ 11,900 | — [10,900
NU065 | 558 A | 11,300 | 59% £ H:11,700, F:11,200 10,900 | 11,700 [ 11,700 | 10,900
8 (AREm) 5 [ Nuoso | 55H#T [ 10,800 61% [£&+:12.400, H:13,200 —— [ 13,200 13,200 [ 12,400
NUO052 | 55H 7 [ 10,900 | 60% |t H:10,800 10,800 | 10,800 | 10,800 | 10,800
NUO054 | 558 #7 | 10,900 | 60% 10,800 | 10,800 | 11,500 | 10,900
NU056 | 558 #7 | 10,900 | 60% 10,800 | 10,800 | 11,500 | 10,900
NUO60 | 558 &7 | 11,700 | 57% £ H:13,600 11,700 | 13,600 | 14,000 | 11,700
NUO062 | 5587 | 12,700 | 54% £ H:14,600 12,700 | 14,600 | 15,000 | 12,700
R (CPA) =/ BECPHE) ([ NUo71 [ 55HAI | 28,000 | 53% |€+:28,500 —— [ 28,000 [ 26,600 [ 28,500
niE% NUO070 | 55H A1 | 22,500 | 62% 21,900 | 21,900 | 25,000 | 22,500
NUO78 | 55H 1 | 26,400 55% | H:27,200 26,200 | 26,500 | —— | 26,400
HE(PHA) =84 B CPIE) %[ Nu021 [ 55HAI | 25,100 | 55% |€+:29,100 —— [ 27,400 27,400 [ 29,100
NU023 | 55H7®i] | 22,300 | 60% & +:23400 —— 123,800 | 22,900 | 23,400
B NU022 | 55H®7T [ 23200 58% [H:26,200 23,000 [ 26,200 | —— [ 23,400
ABx (BEdE) =R1E KPR (B878) #| NU083 | 55HH | 16,400 | 66% |£:19,200, 1:17,300 17,300 | 16,400 | 16,400 | 17,300
RiIEX NU084 | 55HAf | 15400 | 68% | H:18,200 16,200 | 18,200 | — [ 16,200
KB (BEdE) =& ABx (BEPE) F| NU095 | 55HI | 19,600 58% & +:22,100 —— [ 19,600 [ 19,600 [ 22,100
B NU098 | 55H#T [ 19,600 58% [H:22,100 19,600 | 22,100 | —— 19,600
ZEE(PEN) —AlE [RoE(PENH NU173 | 5588 | — — — | — | — [ —
RIEX | NU176 | 55881 | — — — | — [ — [ —
20 E (hE) =8 (BB E = (hE) H NU251 | 558 [ 18,200 |  53%  [£1:21,000 21,000 | 18,200 [ 18,200 | 21,000
NU253 | 55887 | 18,200 | 53% £ 1:21,000 21,000 | 18,200 | 18,200 | 21,000
NU255 | 55H 81 | 16,800 | 56% |2 1t:17,200 17,200 | 16,800 | 16,800 | 17,200
NU257 | 55887 | 9,800 | 75% 9,800 | 9,800 | 9.800 | 9,800
8 (ARER) 5 [ Nu252 [ 55877 [ 9,800 75% 9,800 | 9,800 | 9,800 | 9,800
NU254 | 5587 [ 17,700 | 54% | H:20,100 17,700 | 20,100 | 20,500 | 17,700
NU176 | 55881 | — — — | — [ — [ —
NU256 | 55E /i | 19.600 | 49%  £:20,100, F:17,700. H:22,000 | 17,700 | 22,000 | 22,500 | 17,700
NU258 | 55E /i | 19,600 | 49%  £:20,100, F:17,700. H:22,000 | 17,700 | 22,000 | 22,500 | 17,700
(g =RiE 8 (ARER) 5 [ Nueoi1 [ 55HAT [ 7.800 66% 7,800 | 7,800 | 7,800 | 7,800
NU603 | 55HH1 | 7,800 | 66% 7,800 | 7,800 | 7.800 | 7.800
NU605 | 55BF7 | 11,800 | 49% 11,800 | 11,800 | 11,800 | 11,800
NU609 | 558 F7 | 7,800 |  66% 7,800 | 7,800 | 7.800 | 7.800
NU613 | 558 H1 | 7,800 | 66% 7,800 | 7,800 | 7.800 | 7.800
NU615 | 558 H1 | 7,800 |  66% 7,800 | 7,800 | 7.800 | 7.800
NU619 | 558 H7 | 7,800 | 66% 7,800 | 7,800 | 7.800 | 7.800
NU621 | 558 H71 | 7,800 | 66% 7,800 | 7,800 | 7.800 | 7.800
NU625 | 558 H1 | 7,800 | 66% 7,800 | 7,800 | 7.800 | 7.800
Ll NUO070 | 558 & | 7.800 | 66% 7,800 | 7,800 | 7.800 | 7.800
NU604 | 55BF7 | 7,800 |  66% 7,800 | 7,800 | 7.800 | 7.800
NU606 | 558 F1 | 7,800 | 66% 7,800 | 7,800 | 7.800 | 7.800
NU608 | 55881 | 7,700 | 67% 7,700 | 7,700 | 7.700 | 7.700
NU612 | 558871 | 7,700 | 67% 7,700 | 7,700 | 7.700 | 7.700
NU614 | 558 H7 | 11,800 | 49% 11,800 | 11,800 | 11,800 | 11,800
NU176 | 55881 | — — — | — [ — [ —
NU084 | 55HF7 | 11,800 | 49% 11,800 | 11,800 | 11,800 | 11,800
NU620 | 558 F7 | 11,900 | 48% 11,900 | 11,900 | 11,900 | 11,900
NU622 | 558 F7 | 11,900 | 48% 11,900 | 11,900 | 11,900 | 11,900
NUO078 | 55BH7 | 11,800 | 49% 11,800 | 11,800 | 11,800 | 11,800
NU628 | 55881 | 7,700 | 67% 7,700 | 7,700 | 7.700 | 7.700
R =BG 8 (ARER) 5 [ Nus51 [ 55H#T [ 10500 [ 40%  [9/10-13:3,900 10,500 [ 10,500 | 10,500 [ 10,500
RAC801 | 55HH1 | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU557 | 55H 81 | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU559 | 5581 | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU563 | 5581 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6,800
NU567 | 5581 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6,800
NU569 | 55H 1 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6,800
NU571 | 55881 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6,800
NU573 | 55881 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6,800
B NU552 | 55881 | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU556 | 5581 | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU558 | 55H 1 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6,800
NU560 | 55881 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6,800
NU564 | 55H &1 | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU566 | 55H &1 | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU568 | 55H i | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU570 | 55H 1 | 10,500 | 40% |9/10-13:3,900 10,500 | 10,500 | 10,500 | 10,500
NU572 | 55881 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6,800
RAC804 [ 558 %1 | 6,800 | 61% |9/10-13:3,900 6,800 | 6,800 | 6,800 | 6.800

JTA/RAC
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My i N
[FEHBNF| 7 EEXR(QOHA1H~14H. 18~30H¥EZE )
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[— A SE rith
X gam® | FERE 1943 f;lg‘fg i
XED | EEQ -
HRECHE) =84 [EECHHE) X+ F8%)|JAL/JTA[JTA/RAC| 36,000  38%
=EFE P8 (E8%E) |JTA/RAC[JAL/JTA] 36,000 1  38%
RECHA)=/1E |ERE(CHR)E| P F8E)|JAL/JTA| JTA | 36,300  43%
RiEH  |hEEGREE)| JTA  |JAL/JTA] 36,300 43%
K (FFH) == | KR EM) F|HP#EFRE)| JAL |JTA/RAC| 32,800  37%
=m% | @REH)|[JTA/RAC] JAL | 32,800  37%
KB (BEFR) == | KB (BEFR) F| 48 (A8ER) | JAL/JTA|JTA/RAC| 32,800  37%
=EFE P8 (F8%F) | JTA/RAC[JAL/JTA] 32,800 @ 37%
Kix (751 =F1E xrﬁ@m% hEE(IRER) | JAL JTA [ 36,100  37%
AiEH  |PHEGRE)| JTA JAL [ 36,100 | 37%
KB (BEFR) =H/1E | KBr (BEF) F| 448 (ARER) |JAL/JTA| JTA | 36,100 37%
RiEF A GREE)| JTA  |JAL/JTA| 36,100 37%
HEE(PE) ==H(25E(FE) %P4 ()| JTA [JTA/RAC| 34,200  39%
=m% P EREH)|[JTA/RAC] JTA | 34200  39%
2R (hE) =RiE(45E (P&) %08 (BFH)| JITA JTA | 36,200  41%
AiEHE  |PEGRE)| JTA JTA | 36,200 41%
FLOR (F7F %) =R (8 [ALIR (BT R[HE CFIH) [ JAL  [JAL/JTA| 41,000  45%
ABR (BEFE)] JAL |JAL/JTA| 41,000 46%
ZEE(HE) |  JAL JTA | 41,000 @ 46%
iR JAL JTA | 41,000  48%
iR (BRER) #|H/E (FHA) |[JAL/JTA|  JAL | 41,000 45%
KB (BA7E) | JAL/JTA] JAL [ 41,000 @ 46%
ZEE(HE)|  JTA JAL [ 41,000  46%
iR JTA JAL | 41000  48%
fEE==4 mEHx  [HEGRFE)|] JTA [JTA/RAC| 26,200  42%
=m% P @REH)|[JTA/RAC] JTA | 26,200  42%
e =H1iE 2R [PECGRE)| JTA JTA [ 34900 31%
AiEHE  |FEGRE)| JTA JTA | 34900  31%
IMa=ET INE [PEE(BRER)| JTA |UTA/RAC| 32,500  44%
=m% P EREH)|JTA/RAC] JTA | 32500 44%
INA=F1E INRFE [PRE(ERER) | JTA JTA | 36,300 43%
AiEH  |PEGRE)| JTA JTA | 36,300 43%
== ELF B GRE)| JTA [JTA/RAC| 28,400  45%
=% P48 (3F)|IJTA/RAC| JTA | 28400 @ 45%
[El=/iE MWF  |HEGRE)| JTA JTA | 37,000  35%
AiEHE  |PEGRE)| JTA JTA | 37,000  35%
e (FRER) = ShfE (RS F|EE CBHAE) |JAL/JTA|  JAL | 37,200  48%
FHEFE  |HEmCHA)| JAL  [JAL/JTA] 37,200  48%
HEGRER) ==R [P GIEH) F|EFECHEA)|JAL/JTA[ JAL [ 37,200 47%
=R%E  |EmCFHA)| JAL |JAL/JTA| 37,200  47%
HEGRER) =fE [PEGEER) X EFECHE)|JAL/JTA[ JAL | 36,000  45%
MERE [EmEGEA)|] JAL  [JAL/JTA[ 36,000  45%
R (BRER) = WUz bR (IRER) F|ERE CFIH) |JAL/JTA|  JAL | 36,000  39%
W% |[mRECHHE)| JAL  |JAL/JTA] 36,000  39%
e GRER) =LE [PEGRER) K| &M JTA JAL [ 38900  45%
=4 12 JAL JTA | 38900 @ 45%
HEEGRER) =/MD [P GRER) X EFECHE) [JAL/JTA[  JAL | 34900  44%
IAFE |EERCHA)| JAL  |JAL/JTA| 34900  44%
HEGRER) =55 PEGEERE) X EM JTA [JAL/JAC| 25200  51%
SAFE f2hE  |JAL/JAC] JTA | 25200 51%
HEGRER) =L PEGRER) X B JTA JAC | 23500 51%
LNITES 12 JAC JTA |23500  51%
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ncoo. S S A dh
R meap® | MERE g5 BRH % o1 BER 5, BRE
RED | XEo 5 Al A1

RRCRE) =25 3RR CHA) |54 (BEH) [JAL/JTA[JTA/RAC[ 24,200 58% |%:25,700, 1:24,400 25,300 57% 25,100 57%
EEHE  [P4E (F8%F) [UTA/RAC|JAL/JTA| 24,100 59% 25,200 57% 25,100 57%
RRCPE) =R1ERER CHA) %[5 (BH) [JAL/JTA|  JTA [27.000] 58% £ +:28,600, H:26,600 29,800 53% 28,700 55%
FiEx  [MEGREH)| JTA [JAL/JTA[ 28,200 56% |H:29,800 29,900 53% 29,900 53%
KR (B =25 KR (EF) X548 (BBFH) | JAL [JTA/RAC[ 19,900 62% |+:21,400 23,400 55% 21,900 58%
EEHE P4 (BBF) [UTA/RAC]  JAL [19,900 62% 21,900 58% 21,900 58%
KB (B378) ==& | ABR (BH78) ;042 (AR &) [JAL/JTA[JTA/RAC| 19,900 | 62% [£:21,400 23,400 55% 21,900 58%
BEoO% [P (FRE) [JTA/RAC[JAL/JTA[ 19,900 | 62% 21,900 58% 21,900 58%
KR () =R1E| XBR FFD) F B GRE) | JAL JTA [21500] 62% |%&+£:22,700 27,500 52% 25,900 55%
AiEH  [HEGRH)| JTA JAL [26,100 54% H:27,700 30,100 47% 30,500 47%
KB (B378) =F1E| ABR (BH78) %[04 (IR E) [JAL/JTA]  JTA  [21,500] 62% [£&+:22,700 27,500 52% 25,900 55%
FiEx  [MEGREH)| JTA [JAL/JTA[26,100] 54% [H:27,700 30,100 47% 30,500 47%
AHB (P =24 AAE P %P8 (BBF)| JTA [JTA/RAC[22,200  60% 22,200 60% 22,200 60%
EEHE P4 (BBF) [UTA/RAC|  JTA 22,200 60% 22,200 60% 22,200 60%
2HE(hE) =FE|2aE [P 5| JTA JTA_ [26,700 | 57% 26,700 57% 26,700 57%
TiEH [PEGH)| JTA JTA [26,700] 57% | £:26,200 26,200 57% 26,700 57%
T =#a@®m| LR (FTH) %[ Bm CIHE) | JAL |JAL/JTA| 31,100 58% | A:31,400, £:35,100, +:33,000. H:34,300| 35,900 52% 35,500 52%
KPR (B8#E)[ JAL [JAL/JTA[30300] 60%  A%:31,900, +:31,100. H:33,500 32,700 57% 35,100 54%
2EE(RE)| JAL JTA [31,600 58% |£:31,800. £:30,200. H:32,300 30,200 60% 32,300 57%
1ak JAL JTA [29,600] 62% |%:31,700. H:32,000 29,600 62% 32,000 59%
P8 (BB 5| 3R CFHE) [JAL/JTA|  JAL  [31,500 58% | 7:32,300. & 1:34,200, H:33,100 34,600 53% 34,000 54%
KPR (B8#E) [JAL/JTA]  JAL [32,300] 57% |%:33,100, H:34,700 34,300 55% 35,900 52%
2EE(RE)]  JTA JAL [31,000 59% |%:32,300. 1:30,200. H:34,300 30,200 60% 34,300 55%
1ak JTA JAL [29,600 62% % +:33,300, H:32,300 33,300 58% 32,300 59%
BR=29 mEE  [F#E 3] JTA [JTA/RAC[ 16,300 64% |%:17,900 16,300 64% 16,300 64%
B [P FBFH) [UTA/RAC] JTA 16,300 64% £:16,900. H:17,900 16,900 62% 16,900 62%
B =h1E fmEFE | AEEGRE) | JTA JTA [20800] 59% [£:22,400 20,800 59% 20,800 59%
AiEH [HEGRH)| JTA JTA [20,700] 59% £ +:21,300. H:22,300 21,300 58% 22,300 56%
Ma=Ea IE [REGREH)| JTA [UTA/RAC[ 23,700 59% |£ +:26,100 26,100 55% 23,700 59%
=Eof [P @R%H) |JTA/RAC] JTA 25900 56% |H:28,900 25,900 56% 28,900 50%
INR=FR1IE NS [PER(EBER) | JTA JTA 24,700 61% [£1:27,100 27,100 58% 24,700 61%
AiEH  [HEGREH)| JTA JTA [24700] 61% H:27,100 24,700 61% 27,100 58%
FEL==& MLFE  [P#EGRE) | JTA [JTA/RAC| 22,300 57% |%£+:25300 27,300 47% 24,300 53%
=Eof [T @REH) |JTA/RAC] JTA 22300 57% |H:25300 24,300 53% 27,300 47%
FEIL=H18E RELLFE [ GRER) | JTA JTA [21.800] 62% |%&1:24,200 25,800 55% 23,400 59%
AiEH [HMEGRH)| JTA JTA [25200] 56% | H:27,600 26,800 53% 29,200 49%
R (B =B &LTE (BB F|FR (FH) [JAL/JTA]  JAL  [32400 54% [£:33,200. H:34,000 34,500 51% 35,300 50%
% |[E=IHE)| JAL |JAL/JTA[ 31,700 55% |£:36,500, £:32,800 34,500 51% 32,900 54%
8 (BER) = =R [SH4E (B) 3| Fx= (FH) [JAL/JTA]  JAL  [30400] 57% [H:32,000 32,500 54% 32,500 54%
=R% [EmCHE)| JAL [JAL/JTA[ 29,200 58% |£:30,000, £:29,700 30,100 57% 30,100 57%
iR (BVER) =R [HE (E) 3| Fx= (FHE) [JAL/JTA]  JAL  [28300] 57% |H:30,700 30,000 54% 30,800 53%
MEX [ERECHHE)| JAL  [JAL/JTA[ 29,100 56% |7A:29,500, £:33,200, £:31,100, H:29,200| 33,100 49% 30,800 53%
4B (BB = LTS48 (BRER) R CRE) [JAL/JTA]  JAL  [29,400  50% 29,800 49% 29,800 49%
W% |EmGHE)| JAL  [JAL/JTA[ 28,000 53% [£:29,300, £:28,200 29,400 50% 29,200 51%
REMR) =WErEBR X EE JTA JAL [25,100 65% |%1:27,200, H:27,400 27,200 62% 27,400 61%
=3 12 [E JAL JTA [ 25100 65% |%£:26,800, H:25,900 25,100 65% 25,900 64%
8 (BER) =/Ma[hE (B 3| Fx= (FH) [JAL/JTA]  JAL  [28600] 54% |H:31,800 30,300 52% 31,900 49%
MAFE [ERCEE)| JAL  [JAL/JTA| 28700 54% [£:33,500. 1:29,800, H:29,500 31,900 49% 29,500 53%
BB =S MR RHE K] B JTA [JAL/JAC[ 24,700 | 52% 24,700 52% 24,700 52%
S f8  [JAL/JAC| JTA [24700] 52% 24,700 52% 24,700 52%
B (B =RILME (BB K| B JTA JAC 20300 58% |£:22.600, H:23,100 22,600 53% 23,100 52%
[NIES 12 JAC JTA 20,300 58% & +:21,900 21,900 55% 20,300 58%
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JAL/JTA/JAC/RAC

EEBAR : 2012/7/3 ~
N — 914 | g, [ — N =
- p— BERHE [g,10.13 g;;{j w= | o/is-21 gﬁ;% & 9/15 f—a;% 9/16 fb;fé 9/17 f—a;% 9/22 fb;fé

| KED | K@ - 9/23-30 | = & & &
R (AH) =2& 228 %048 (8 [JAL/JTA[JTA/RAC] 22,200 | 62% 25400 | 56% | A:25500. £:26600. £:25,700. B:23800 | 25700 | 56% | 24,700 | 58% | 24700  58% | 25700 56%
JTA/RAC[JAL/JTA| 22,100 | 62% 25400 | 56% |H:26,700 25400 56% |26,200 ] 55% |30,000 | 49% |25400 | 56%
RR(RE) =RE JAL/JTA| JTA | 25400 @ 60% 25400 | 60% |%:27,000. £:26,900, H:25,000 [ 26,900 | 58% |25000 61% |25000] 61% |26,.900 58%
JTA [JAL/JTA| 26,600 | 58% 26,600 | 58% |H:27,400 26,600 | 58% |26,700 ] 58% |27.400 ] 57% | 26,600 58%
KR (B =88 JAL _|JTA/RAC| 17,900 | 65% 21,200 | 59% | £:22,700 22,700 | 56% |21,200 59% |21200 ] 59% |22700 | 56%
JTA/RAC|  JAL | 17,900 | 65% 23,600 | 54% |H:25,000 23,600 | 54% |25000] 52% |25000 ] 52% |23,600| 54%
KR (BAF) =& & JAL/JTA[JTA/RAC| 17,900 | 65% 21,200 | 59% |£:22,700 22,700 | 56% |21,200 59% |21.200 | 59% |22700 | 56%
JTA/RAC[JAL/JTA| 17,900 | 65% 23,600 | 54% |H:25,000 23,600 | 54% |25000] 52% |25000 ] 52% |23,600 | 54%
KIR () =R1E JAL JTA | 20300 [ 65% 20,300 | 65% |&£:21,900 23900 58% [20,300 65% |20,300 | 65% 21,900 62%
JTA JAL | 24900 [ 56% 24,900 | 56% |H:26,500 24,900 | 56% |26,500 ] 54% 32000 44% |24,900 | 56%
KR (BAF) =R 18 JAL/JTA| JTA | 20300 | 65% 20,300 | 65% & £:21,900 23900 58% [20,300] 65% |20,300 | 65% 21900 62%
RlER JTA [JAL/JTA| 24,900 | 56% 24,900 | 56% 24,900 | 56% |26,500 ] 54% |32000 ] 44% |24,900 | 56%
BEHE(RE) = B% 4580 PR JTA _[JTA/RAC| 20,200 | 64% 23,500 | 58% 25200 55% |23500] 58% |23500 | 58% |25200 | 55%
=5 % |48 |[JTA/RAC]  JTA | 20,200 | 64% 26,200 | 53% 24,600 | 56% |28200] 50% |28400 | 49% |24600] 56%
BEE () =AE | £EE ) %] )| JTA JTA | 24700 | 60% 24700 | 60% % 1:26,400 26,400 | 57% |24700] 60% |24,700 | 60% | 26,400 | 57%
RiEHE [ JTA JTA | 24,700 [ 60% 24,700 | 60% |H:26,400 24,700 | 60% |26.400] 57% |26400 ] 57% |24,700 | 60%
LI (BF ) =548 OB [ #LIR (37 ) 2| R IR JAL [JAL/JTA| 27,900 62% |A:28,500 [ 27,900 62% | A:28,500, #£:31,900. +:29,000. H:32,100 | 32,600 56% |31,900 57% [32,100 57% |29,800 60%
JAL _|JAL/JTA| 25000 | 67% |A:26,600 | 25,000 | 67% |A%:26,600, £:25800, H:28,200 | 31,800 | 58% |28200 | 63% |29,800 | 61% | 25800  66%
JAL JTA | 30,300 [ 60% 30,300 | 60% |%:31,300, £:29,700, B:31,100 [29,700 | 61% [31,100 59% [31,100] 59% |29,700 61%
JAL JTA | 25600 [ 67% 25600 | 67% |£::26,900, H:28,000 25600 | 67% |28000] 64% |32000] 59% |25600 67%
4 (%) % | Bm CHE) [JAL/JTA|  JAL | 20,500 | 60% |A:30,300 | 29,500 | 60% | A:30,300. % +:32,000. H:30,800 | 34,100 | 54% | 31,000 58% [32,800  56% |29.800 60%
IR (BA78) [JAL/JTA| JAL | 27,400 | 64% 27,400 | 64% 8,200, H:29,800 20800 61% [29.800] 61% |30.800 | 59% |27.400 | 64%
ZHEE(RE)| JTA JAL [ 29,100 | 62% 29,100 | 62% 1,900, £:29,800. H:33,900 [ 29,800 | 61% |33900 | 55% 34,100 | 55% |29,800 | 61%
2] JTA JAL | 25600 | 67% 25600 | 67% :28,500, H:27,500 32,200 ] 59% |27.500] 65% |27,500 | 65% | 28,500 64%
EE=5% HHBRE) | JTA [JTA/RAC| 15900 | 65% 19200 | 57% [£:19,800 19,200 | 57% [19,200 | 57% 19,200 57% [19,200] 57%
JTA/RAC| JTA | 15900 | 65% 19,200 | 57% 19,200 | 57% 19,800 | 56% |19,800] 56% [19,200] 57%
wBE=H1E = JTA JTA | 20400 [ 60% 20,400 | 60% |%:21,000 20,400 60% |20400] 60% |20400 | 60% |20,400 | 60%
JTA JTA | 20300 [ 60% 20,300 | 60% 20,300 | 60% [20.900] 59% [20900] 59% |20,300 | 60%
IMA=EH JTA _[JTA/RAC| 22,100 | 62% 22,100 | 62% & £:24,500 20,000 | 50% |24500] 58% 22,100 62% 29,000 50%
JTA/RAC|  JTA | 23,900 | 59% 25200 | 57% |H:27,600 25200 57% |27.600] 53% |36400 | 38% |25200 | 57%
IMA=F1E JTA JTA | 23,100 [ 64% 23,100 | 64% % £:25500 30,000 | 53% |25500 60% |23,100 | 64% 30,000 53%
JTA JTA [ 23,100 [ 64% 23,100 | 64% |H:25500 23100 64% |25500] 60% |34,300 | 46% |23,100 | 64%
fEL=2 JTA _[JTA/RAC| 22,300 | 57% 23,900 | 54% % +:26,300 34800 33% [23900] 54% 23900 54% 33900 34%
JTA/RAC| JTA | 22,300 | 57% 23,900 | 54% |H:26,300 23,900 54% [26,300] 49% |34,800 33% |23900| 54%
FEL=5/1E B (&) | JTA JTA | 21,800 @ 62% 21,800 | 62% & £:24,200 32,700 | 43% |21.800] 62% |21.800 | 62% |32700 | 43%
AiEH [FEER)| JTA JTA | 25200 [ 56% 25200 | 56% |H:27,600 25200 56% |27.600 ] 52% |36,100 | 37% |25200 ] 56%
() =B R [ +AR % | R CHE) [JAL/JTA| JAL | 30800 | 57% 30,800 | 57% |%:31,600, H:32,000 31,600 | 55% [32,100 55% 34,300 52% 30,800 57%
BHE [ERJ JAL _|JAL/JTA[ 30,100 [ 58% 30,100 | 58% |£::34,900, £:30,000 33800 52% [30.100] 58% |31,700 | 55% |31,200 56%
HRET == R (F JAL/JTA[ JAL | 28800 | 59% 28,800 | 59% | H:30,100 20,600 | 58% [30,100 57% 35800 49% |28,800 | 59%
EFAE: JAL _|JAL/JTA[ 28,100 [ 60% 28,100 | 60% |£::30,000 29,700 | 58% |28900] 59% |28900 | 59% |28,100 | 60%
4 (BhH) =T |94 (B8 % | R am JAL/JTA[ JAL | 26,700 | 59% 26,700 | 59% | H:28,800 26,700 | 59% |28800 56% 32200 51% |26,700 | 59%
MAXE [ER JAL__[JAL/JTA| 27500 | 58% |/A:27,900 | 27,500 | 58% |A:27.900, 31600, 29500, H:27,600 | 32,200 | 51% | 27,600 | 58% | 27,800 | 57% | 29,500 | 55%
T (B = L |98 (B8 % | R am O JAL/JTA[ JAL | 26800 | 55% 26,800 | 55% 27,500 | 53% |26,200 56% |28,100 | 52% | 26,800  55%
2 METACT: JAL _|JAL/JTA[ 26,200 [ 56% 26,200 | 56% |£::29,300, 1:26,400 27,700 | 53% |26,200 ] 56% |27,500 | 53% | 26,400 | 55%
A GRER) =LA | 5040 GBI 5 Hil JTA JAL | 24800 | 65% 24,800 | 65% £:26,100. H:26,300 20800 58% [26,300 63% |26,300 | 63% | 26,100 | 63%
=3 = JAL JTA | 24,800 [ 65% 24,800 | 65% 5,700, H:25,600 24800 65% |25600] 64% |29200 ] 59% |24,800 65%
A GRER) = /M| e o 5 | R CIE) [JAL/JTA[  JAL | 27,000 | 57% 27,000 | 57% | H:29,900 26,000 | 59% [27.300 56% 32900 48% |27,000 | 57%
NN [RFECRE)|[  JAL [JAL/JTA] 27.100 [ 57% 27,100 | 57% |£:31900, £:27,800, H:27,900 [ 32,500 | 48% |27,900 56% [27,900] 56% |28200] 55%
() = [ 4 BT % Hil JTA _[JAL/JAC| 24,600 | 52% 24,600 | 52% :24,700 20,600 | 42% |26,500 | 48% |26,500 | 48% |24,700 | 52%
B & JAL/JAC| JTA | 24,600 | 52% 24,600 | 52% :24,700 24,800 | 52% |25400] 50% [29,100 | 43% |24700] 52%
Sl (IR = KL | 500 GBI 52 Hl JTA JAC | 20300 [ 58% 20,300 | 58% 00, H:23,100 20,300 | 58% |21,900 ] 55% |26,400 | 45% | 20,300 | 58%
[NIES =l JAC JTA | 20300 [ 58% 20,300 | 58% 1,900 24000 | 50% | 20300 58% |20300  58% |21.900] 55%




